GitEEAER

B Fpk 294 48 1B = FpL 304 3H 318

1=K 3]

B TE FHUR 55,806,100
LEIRA 39,081,159
SElE5E.LE 39,418,989
A—3FNEFFZEINA 118,779,044
BEe5xEE 2,640,000
FHRIPIRA 5,748,657
EERCTIPN 6,327,231
EEHESERZERA 2,403,824
Z DD IRA 8,000

* FITE F S * 270,213,004
i EE RS 3,726,186
TtAS 31,906,658
HAR S At ED = 3,314,613
L5 SRR (il 18,019,190
EfE 15 Rl 5,061,253
F PR 869,425
HAESIRLE 0

* 55 F R * 56,268,099

* x 55 O FIE * * 213,944,905
& E RN 4,200,000
e | 113,411,014
M4 10,186,417
E 5 17,387,013
BB 0
EEENE 23,410,534
BIEAEE 2,432,695
BREERE 3,519,758
AR AE & 1,151,858
FREREEN 5,297,722
RIEH 434,390
EiEE 2,092,036
FHRNEE 427,110
A {EENE 1,598,187
SREILEEA 0
ES55HEBA 8,243,748
BB E R 6,079,275
REXEE 2,418,134
BiEERE 1,643,784
KENLBHE 1,724,611
REE 406,020
) —2% 1,254,893
%1’5% 0
LEEEE 372,335
XEE 307,874
RiE 23,808
FiftE 110,000
X ILFEF 2,780,893
XEZ 92,110
SEEX 0
#E 5,800
EEHGEE 0

x BRFE-— AR E T 211,012,019

* x BEFIA * % 2,932,886




SZEFI R 38,849
e R 0
HiMEE&FTEN I 0
HMUXA 493,240

* BRI * 532,089
FILFIE 27,123
A mEE&ETlE 0
HimEEETEEE 0
HEBLE 0
HEX 0

* EENER * 27,123

* x FREF AR * 3,437,852
[E % & EFT A IE 32,406
SEEILERA 2,202,148
ES55|LEREA 0
BERAAEISEREA 0
AIHIE RIS IE I 0
{EAEHERIL &% 0
TREEE 0

* BRI R 2E * 2,234,554
EE & E e 0
B E & ERRANE 1
SEEILEEA 2,133,000
EIEMMAET S 0
BERAEISEEA 0
%8 A (5 3 5T {H 18 0
RIS IEE 0

* FFRIE K * 2,133,001

* x 15| 7T 25 EA F 2% 3,539,405
EABRERBREEZER 1,785,721
EAER L -1,405,219
EABE 0

* LHRSI R AR * 3,158,903




